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Zadanie 1

 

 

 

�� = 2 ∙ ���∙	
�� + 12 ∙ 6 ∙ 21�� + 	∙��

�� = 119232���  

�� = 2 ∙ �	∙��
�� + 12 ∙ 6 ∙ 9�� + ��∙	

�� = 14256���  

��� = 12 ∙ 6 ∙ 21 ∙ 9 + 12 ∙ 6 ∙ (−21) ∙ (−9) = 27216���  

��,� = ���� 
� ±"���#� � �� + ���� = ��$�%�����&	

� ±"���$�%�#���&	� �� + 27216� = 66744 ± 59124.452	[���]   

�� = 125868.452���   

�� = 7619.548���   

 

+,2-. = ��� 
��#� = 

�∙�/��	
��$�%�#���&	 = 0.519 

2-. = 12�+,0.519 = 27.42°  
-. = 13.71° = 13°42′   
(+)

5�� − ��6
(+)

�782-.> 0 ⇒ �1;  

-.� = 13.71° = 13°42′   
-.� = 103.71° = 103°42′   
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Zadanie 2 

 

 

�� = 2 ∙ ��&∙	
�� + 25 ∙ 6 ∙ 21�� + $∙%	

�� = 168192���  

<�� = 25 ∙ 6 ∙ 21 = 3150��%  

<��� = 25 ∙ 6 ∙ 21 + 18 ∙ 9 ∙ 9 = 4608��%  

 

=� = |=?@�| = 3A   

 

Część I  

A = 10BC ⟹ =� = 30BC   

E = F ∙G�
��∙H   

E�I = %.∙%�&.
�	��$�∙�& = 0.225JA1  

E�K = %.∙%�&.
�	��$�∙$ = 0.624JA1  

E�� = %.∙�	.�
�	��$�∙$ = 0.913JA1  

 

Część II 

a) 

+ = F ∙G�L
�� = %M∙%�&.

�	��$� = 0.0562A	 NOPQ?R   
AS = + ∙ T = 0.0562A ∙ 20 = 1.124A	[BC]   
CS = V ∙ WX = Y∙KZ

� ∙ WX = Y∙�Z
� ∙ 10 = 31.416	[BC]   

AS ≤ C′  
1.124A ≤ 31.416  

A ≤ 27.950BC  

 

b) 

E = F ∙G�
��∙H =

%M∙%�&.
�	��$�∙$ = 0.0624A	[JA1]  

E ≤ WX  
0.0624A ≤ 2  

A ≤ 32.051BC  

 

 

 


